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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

When you ---------- a meeting, it is important to speak clearly, confidently and at a good
pace.

1) assess 2) propagate 3) address 4) impress

People like the newly proposed system, but because of the costs involved we do not
believe it is ---------- , and we need to look for other options.

1) compliant 2) defensive 3) ingenuous 4) viable

The country in question is very poor, and one in seven children dies in ---------- .

1) infancy 2) nutrition 3) malfunction 4) mortality

I don’t consider myself to be particularly ---------- , but when I’m given a job, I make
sure it gets done.

1) industrious 2) spontaneous 3) risky 4) unexceptional

The new airliner is more environmentally-friendly than other aircraft, its only ----------
being its limited flying range.

1) demand 2) drawback 3) controversy 4) attribute

The celebrity will ---------- assistance from the police to keep stalkers away from his
property.

1) extend 2) invoke 3) absolve 4) withdraw

When plates in the Earth’s crust slide or grind against one another, an earthquake with
devastating consequences may be ---------- 3
1) derived 2) surpassed 3) triggered 4) traced

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The new species was named Maiacetus inuus, which means “mother whale,”
(8) ---—--—--- in the family Protocetidae. Assignment to a new species was justified due
to critical differences from other protocetid whales, such as solidly co-ossified left and
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right dentaries (lower jaws), (9) ---------- in the ankle, and significant disparity in hind
limb elements. The fossils show (10) ---------- this new species’ length is unimpressive
relative to some extant (living) whales, but still, Maiacetus inuus measures a
respectable 2.6 meters.

8- 1) placed 2) that placed 3) was placed 4) and was placed
9- 1) there were variations 2) varying

3) variations 4) which varied
10- 1) when 2) that 3) although 4) for

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The main functions of autonomous agricultural machinery are to realize unmanned
driving and autonomous operation in the agricultural field. The agricultural operations
of agricultural machinery include in-field transports and inter-field transports while
executing farming tasks, and the planning and execution for these transports can
significantly affect the productivity of the whole system. In view of this, two key
problems must be addressed for autonomous agricultural machinery to be operated
successfully in arable fields: one is the path-planning problem, and the other is the
path-tracking problem. They are connected to each other, and they should be explained
together. As optimizing the driving path of autonomous agricultural machinery is key
to improving agricultural production efficiency and operational quality, the path-
planning procedure can be regarded as an operational layer which aims to optimize the
global performance of the agricultural operation system. A path-planning problem in
the agricultural domain is the derivation of a pre-determined trajectory which can be
used to steer the movements of autonomous agricultural machinery. Once the tracking
trajectory has been planned and optimized, the operational efficiency of agricultural
machinery is assumed to be determined accordingly, and a path-tracking algorithm
will be utilized to realize this pre-determined agricultural machinery operational
efficiency, by tracking the optimized trajectory with the best accuracy. This is the time
that the path-tracking problem shows up. The execution of the transports along the
optimized trajectory from the operational layer is typically a navigation problem,
which is an important challenge for all agricultural applications. The optimized
trajectories are usually composed of two major categories: the working trajectories
within the tracks, and the non-working trajectories in the headlands. The second one
seems to cause more problems, as the transition from one track to another in the

headlands must be conducted in an exact manner. There are various turning types on
the headlands.
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According to the passage, all of the following statements are true EXCEPT ---------- 3

1) The agricultural operations of agricultural machinery include in-field and inter-field
transports.

2) Execution of the transports along the optimized trajectory from the operational layer
is not challenging.

3) A path-planning problem in the agricultural domain is the derivation of a pre-
determined trajectory.

4) The path-planning procedure optimizes the global performance of the agricultural
operation system.

What is the main purpose of this passage?

1) To explain about the two main problems of autonomous agricultural machinery

2) To explain about the main functions of autonomous agricultural machinery

3) To explain about the main types of transports of agricultural machinery

4) To explain about the two main categories of optimized trajectories

The passage probably continues with a few sentences about ---------- .

1) path-planning problem 2) various turning types

3) optimized trajectories 4) path-tracking problem

The word ‘execution’ in the passage (underlined) is closest in meaning to ---------- a
1) implementation ~ 2) integration 3) preparation 4) observation
The word ‘they’ in the passage (underlined) refers to ---------- a

1) problems 2) tasks 3) fields 4) transports
PASSAGE 2:

As the scientific and technological support for the development of agriculture, agricultural
mechanization is an important symbol of the transformation from traditional agriculture to
modern agriculture. Actually, it has an important impact on improving agricultural
productivity, and it plays a vital role in improving crop yield and farmers’ quality of life.
With the rapid and in-depth development of agricultural mechanization, the brands and
types of agricultural machinery are increasing, and the performance and parameters of
various models vary greatly. It can be seen that the reasonable selection of agricultural
machinery can effectively improve the land productivity, labor productivity, equipment
utilization, yield, quality, and efficient production of agriculture. As a result, users can save
costs, increase income, realize the reasonable allocation of resources, and promote the
sustainable development of agriculture. These factors are conducive to improving the
overall agricultural modernization. The selection of agricultural machinery plays a major
role in the management of agricultural mechanization production and directly affects the
economic benefits of farmers and related units. The overall requirements of selection are
advanced technology, reasonable economy, and meeting the utilization conditions. Some
scholars have proposed some methods, such as making efficient agriculture the goal, to
solve the problem of agricultural machinery selection. The machinery with high technology
content and multiple operations can be selected based on the principle of ‘saving cost and
increasing efficiency’ of agricultural mechanization. It is recommended to consider the
economic cost and operation performance. Besides, effect factors and corresponding
indicators should be considered. We can adopt the improved fuzzy comprehensive
evaluation method for selection to comprehensively consider technology, economy, and
performance. In general, the existing agricultural machinery selection methods mainly
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consider the economic and technical aspects of machinery; however, economic indicators,
such as fuel consumption cost and labor cost, are not fully considered. Technical indicators
are difficult to quantify, and they often rely on expert scoring, which is subjective in nature.
Further, the multi-attribute decision-making method is introduced into the agricultural
machinery selection to explore the comprehensive ranking of agricultural machinery and
provide decision support.

According to the passage, all of the following statements are true EXCEPT ---------- X

1) Agricultural mechanization is an important symbol of the transformation from traditional
agriculture to modern agriculture.

2) The improved fuzzy comprehensive evaluation method by no means considers factors
such as technology, economy, and performance.

3) With the rapid and in-depth development of agricultural mechanization, the brands and
types of agricultural machinery are increasing.

4) Technical indicators are difficult to quantify, and they often rely on expert scoring, which
is subjective in nature.

What is the main purpose of this passage?

1) To explain about the development of agriculture

2) To explain about the importance agricultural mechanization

3) To explain about the selection of agricultural machinery

4) To explain about the fuzzy comprehensive evaluation method

The passage probably continues with a few sentences about ---------- 3

1) the multi-attribute decision-making method

2) the technological support for the development of agriculture

3) the principle of ‘saving cost and increasing efficiency’

4) the overall agricultural modernization

The word ‘allocation’ in the passage (underlined) is closest in meaning to ---------- .

1) apportionment  2) replacement 3) establishment 4) measurement
The word ‘it’ in the passage (underlined) refers to ---------- ’

1) technological support 2) the development of agriculture

3) modern agriculture 4) agricultural mechanization
PASSAGE 3:

The basic requirement in agriculture is to reduce the costs of land cultivation. It is
necessary to reduce production costs to achieve higher revenues through the sale of
agricultural products. Based on that, productivity is the key economic indicator in
achieving the set goals in agriculture. Agricultural production is under the influence of
uncertainty, because the annual yield is affected by precipitation, temperature, and
other natural conditions. Therefore, in order to reduce the impact of uncertainty on
agricultural production, it is necessary to use the economy of scale and plant large
quantities of agricultural crops. The purpose of agricultural mechanization is to
achieve high income while minimizing costs, which is the basic postulate of
agricultural production. Tractors are the basic means of agricultural machinery used in
agricultural production, since they perform the most important operations in
agriculture such as plowing, planting, cultivating, fertilizing, harvesting, and spraying.
In fact, they are considered as the main propulsion tool in agricultural production.
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Buying tractors is a big investment for farmers, so it is necessary to choose from the
multitude of the alternatives that exist on the market. When choosing a tractor, first the
criteria are determined and then the alternatives are evaluated. The choice of the
criteria and alternatives is the basis for the application of multi-criteria analysis
methods (MCDA). To cultivate large areas, farmers must choose tractors that fall into
the category of heavy tractors. When choosing a tractor using the MCDA method, the
criteria for evaluating the alternatives must first be determined. The most important
criteria for farmers when buying a tractor are the brand, power, price, and
characteristics of the tractor. The criteria need to be evaluated, and the weights need to
be determined. Two approaches are used in determining the weights of the criteria. In
the first approach, which is called the subjective determination of the criteria weights,
the opinion of decision-makers (DM) is taken into account regarding the importance of
a certain criterion, and the values of the alternatives are not considered as important.

According to the passage, all of the following statements are true EXCEPT ---------- 5

1) The aim of agricultural mechanization is to achieve high income while minimizing
costs, which is the basic postulate of agricultural production.

2) In the subjective approach for the determination of the criteria weights, the opinion
of decision-makers is not considered as important.

3) It is necessary to reduce production costs in order to achieve higher revenues
through the sale of agricultural products.

4) To decrease the effect of uncertainty on agricultural production, it is necessary to
use the economy of scale and plant large quantities of agricultural crops.

What is the main purpose of this passage?

1) To explain about the importance of tractors and the criteria for choosing them

2) To explain about reducing the impact of uncertainty on agricultural production

3) To explain about reducing the costs of land cultivation as a requirement in agriculture

4) To explain about productivity as the key economic indicator in agriculture

The passage probably continues with a sentence about ---------- .

1) determining the criteria and evaluating the alternatives

2) choosing a tractor by applying the MCDA method

3) the most important criteria for farmers when buying a tractor

4) the second approach used in determining the weights of the criteria

The word ‘multitude’ in the passage (underlined) is closest in meaning to ---------- ’

1) pittance 2) shedload 3) handful 4) bolus

The word ‘they’ in the passage (underlined) refers to ---------- ’

1) tractors 2) quantities 3) conditions 4) operations
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